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Ανψ mαλπραχτιχε ορ αττεmπτ το χοmmιτ mαλπραχτιχε ιν τηε εξαmινατιον ηαλλ ωιλλ λεαδ το δισθυαλιφιχατιον οφ τηε
χανδιδατε. 

Χανδιδατεσ αρε νοτ αλλοωεδ το χαρρψ ανψ τεξτυαλ mατεριαλ, πριντεδ ορ ωριττεν βιτσ οφ παπερ, Ματηεmατιχαλ ανδ 
Πηψσιχαλ Ταβλεσ, Ελεχτρονιχ γαδγετσ λικε ταβλετ, χαλχυλατορ, χελλ πηονε, ετχ. ιντο τηε εξαmινατιον ηαλλ. 
Χανδιδατεσ σηαλλ ποσσεσσ τηε Αmριτα Εντρανχε Εξαmινατιον – Ενγινεερινγ 2015 Ηαλλ Τιχκετ ωηιχη σηουλδ βε 
προδυχεδ ον δεmανδ. 
Χανδιδατεσ σηαλλ οχχυπψ τηε ρεσπεχτιϖε σεατσ βεαρινγ τηειρ ρεγιστρατιον νυmβερσ. 

Χανδιδατεσ σηαλλ σιγν τηε αττενδανχε σηεετ αϖαιλαβλε ωιτη τηε ινϖιγιλατορ. 

Χανδιδατεσ αρε νοτ περmιττεδ το λεαϖε τηε ηαλλ βεφορε τηε ενδ οφ τηε εξαmινατιον. 
Χανδιδατεσ αρε ρεθυιρεδ το ηανδοϖερ τηε ΑΝΣWΕΡ ΣΗΕΕΤ ανδ τηε ΘΥΕΣΤΙΟΝ ΒΟΟΚΛΕΤ το τηε 
ινϖιγιλατορ βεφορε λεαϖινγ τηε ηαλλ.
Αφτερ συβmιττινγ τηε ανσωερ σηεετ, χανδιδατεσ αρε ρεθυιρεδ το αφφιξ τηειρ λεφτ τηυmβ ιmπρεσσιον ον 
τηε αττενδανχε σηεετ αϖαιλαβλε ωιτη τηε ινϖιγιλατορ. 
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 ΘΥΕΣΤΙΟΝ ΒΟΟΚΛΕΤ 

12. 

9.
10.

11.

DΟ ΝΟΤ ΟΠΕΝ ΤΗΙΣ ΣΕΑΛΕD ΒΟΟΚΛΕΤ ΥΝΤΙΛ ΤΗΕ ΙΝςΙΓΙΛΑΤΟΡ ΑΝΝΟΥΝΧΕΣ ΤΟ DΟ ΣΟ. Βεφορε οπενινγ τηε
Θυεστιον Βοοκλετ, ωριτε τηε Ναmε, Ρεγιστρατιον Νυmβερ ανδ Σιγνατυρε υσινγ βαλλ 
πεν ιν τηε σπαχε προϖιδεδ ατ τηε τοπ οφ τηισ παγε. 

Ιmmεδιατελψ αφτερ οπενινγ τηε βοοκλετ, εξαmινε ωηετηερ ιτ χονταινσ αλλ τηε 100 θυεστιονσ ιν σεριαλ 
ορδερ ανδ 20 παγεσ ασ mεντιονεδ ατ τηε τοπ οφ τηισ παγε. Ιν χασε οφ υνπριντεδ, τορν ορ mισσινγ παγεσ, τηε 
mαττερ σηουλδ βε ρεπορτεδ το τηε ινϖιγιλατορ ιmmεδιατελψ. 
Ρουγη ωορκ mαψ βε δονε ον τηε σπαχε προϖιδεδ ιν τηισ βοοκλετ. 

(Continued on the last page) 
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ΠΗΨΣΙΧΣ 

1. Τηε ελεχτριχ χυρρεντ ιν α χιρχυιτ ισ γιϖεν βψ Ι = Ι0 σιν ( t +Ǉ). Wηατ ισ τηε διmενσιον 
οφ 

α) σεχονδ 

χ) mετερ / σεχονδ 

? 

β) 1/σεχονδ 

δ) διmενσιονλεσσ 

2. Τηε ϖελοχιτψ ϖαριεσ ωιτη τιmε αχχορδινγ το τηε ρελατιον, ϖ = 3τ + 4. Τηε διστανχε τραϖελλεδ 

βψ τηε βοδψ ιν τ = 2 σ ωιλλ βε 

α) 10 m 

χ) 14 m 
β) 12 m 

δ) 16 m 

3. Wηεν α προϕεχτιλε ισ ατ τηε ηιγηεστ ποιντ ον ιτσ τραϕεχτορψ, τηε ποτεντιαλ ανδ κινετιχ 

ενεργιεσ αρε ρεσπεχτιϖελψ 

α) mαξιmυm ανδ mινιmυm 

χ) ζερο ανδ mαξιmυm 
β) mινιmυm ανδ ζερο 

δ) mαξιmυm ανδ ζερο 

4. Α βλοχκ οφ mασσ 2 κγ σταρτσ mοϖινγ ωηεν τηε ανγλε οφ ινχλινατιον οφ τηε ινχλινεδ πλανε ισ 

60ο. Ιφ τηε χοεφφιχιεντ οφ κινετιχ φριχτιον ισ 0.6, τηε φριχτιοναλ φορχε ισ 

α) 2 Ν 

χ) 4 Ν 

β) 1 Ν 

δ) 0.5 Ν 

5. Τωο φορχεσ Φ1 = (7ι + 2ϕ) Ν ανδ Φ2 = (−5ι + 3ϕ) Ν αχτ ον α παρτιχλε. Τηε τηιρδ φορχε Φ3 τηατ 

σηουλδ αχτ ον τηε παρτιχλε το mακε ιτ mοϖε ωιτη χονσταντ ϖελοχιτψ ισ 

α) (2ι + 5ϕ) Ν 

χ) (–2ι + 5ϕ) Ν 

β) (−2ι – 5ϕ) Ν 

δ) (2ι – 5ϕ) Ν 

6. Τωο σατελλιτεσ οφ mασσεσ 3Μ ανδ Μ ορβιτ τηε εαρτη ιν χιρχυλαρ ορβιτσ οφ ραδιι ρ ανδ 3ρ 
ρεσπεχτιϖελψ. Τηε ρατιο οφ τηειρ σπεεδσ ισ 
α) 1 : 1 

χ) 3 : 1 
β)  : 1 

δ) 9 : 1 

7. Ιν αν αδιαβατιχ προχεσσ, τηε πρεσσυρε οφ α γασ ισ προπορτιοναλ το τηε χυβε οφ ιτσ αβσολυτε 

τεmπερατυρε. Τηε ϖαλυε οφ 

α) 5/4 

χ) 5/3 

(ωηιχη εθυαλσ Χπ/Χϖ) ισ 

β) 4/3 

δ) 3/2 

Σπαχε φορ ρουγη ωορκ 
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8. Α mασσ ισ mοϖινγ τοωαρδσ τηε οριγιν αλονγ τηε ξ−αξισ ωιτη χονσταντ ϖελοχιτψ. Ιτσ ανγυλαρ 
mοmεντυm ωιτη ρεσπεχτ το τηε οριγιν 

α) ρεmαινσ χονσταντ 

χ) ινχρεασεσ 
β) ισ ζερο 

δ) δεχρεασεσ 

9.Τηε ρατε οφ χοολινγ οφ α λιθυιδ ισ 4ο Χ/σ, ωηεν ιτσ τεmπερατυρε ισ 80ο Χ ανδ ισ 2ο Χ/σ ωηεν 
ιτσ τεmπερατυρε ισ 50ο Χ. Τηε τεmπερατυρε οφ τηε συρρουνδινγ ισ 

α) 30ο Χ 

χ) 10ο Χ 

β) 20ο Χ 

δ) 25ο Χ 

10.Α Χηαργεδ σπηερε οφ ραδιυσ 1m χα −9 ρριεσ α χηαργε οφ 1 ξ 10Χ. Τηε ελεχτριχ φιελδσ ατ α 
ποιντ Π, ωηιχη ισ ατ α διστανχε δ = 3m φροm τηε χεντρε οφ τηε σπηερε ανδ ατ α ποιντ Θ, ατ 
α διστανχε δ = 0.3m φροm τηε χεντρε οφ τηε σπηερε αρε ρεσπεχτιϖελψ 

α) 1 Ν/Χ ανδ 100 Ν/Χ 

χ) ζερο ανδ 1 Ν/Χ 

β) 1 Ν/Χ ανδ ζερο 

δ) 1 Ν/Χ ανδ 3 Ν/Χ 

11.Αν ελεχτριχ διπολε λψινγ αλονγ Ξ−αξισ ωιτη mοmεντ 5 Αm2 ισ συβϕεχτεδ το αν ελεχτριχ φιελδ οφ mαγνιτυδε 10ϕ Ν/Χ. Τηε τορθυε εξπεριενχεδ ισ 

α) 2 Νm 

χ) 50 Νm 

β) 10 Νm 

δ) 25 Νm 

12. Α παραλλελ πλατε χαπαχιτορ ωιτη αιρ γαπ οφ 5 mm ισ 2 ΜΦD. Ιφ α mεταλλιχ πλατε οφ τηιχκνεσσ 
3 mm ισ ινσερτεδ ιν βετωεεν τηε πλατεσ, τηε νεω χαπαχιτανχε ισ 

α) 5 ΜΦD 
χ) 2 ΜΦD 

β) 1 ΜΦD 
δ) 2.5 ΜΦD 

13. Α γαλϖανοmετερ οφ ρεσιστανχε 50 οηm γιϖεσ α φυλλ σχαλε δεφλεχτιον ωηεν 3 mΑ χυρρεντ 
πασσεσ τηρουγη ιτ. Τηε σεριεσ ρεσιστανχε τηατ ισ το βε χοννεχτεδ το χονϖερτ ιτ ιντο α ϖολτmετερ οφ ρανγε 0 – 3 ς ισ 

α) 500 Ω 
χ) 1000 Ω 

β) 950 Ω 
δ) 750 Ω 

14. Τωο ρεσιστανχεσ 6Ω ανδ 3Ω αρε χοννεχτεδ ιν παραλλελ ανδ τηισ χοmβινατιον ισ χοννεχτεδ 
ιν σεριεσ ωιτη α 4Ω ρεσιστανχε. Τηισ χοmβινατιον ισ ποωερεδ βψ α ϖολταγε σουρχε οφ 12 ς 
ανδ ζερο ιντερναλ ρεσιστανχε. Τηε ρατιο οφ ποωερ δισσιπατεδ βετωεεν 6Ω ρεσιστανχε ανδ 
4Ω ρεσιστανχε ισ 
α) 1:4 

χ) 1:8 
β) 4:1 

δ) 3:2 
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15. Τωο χηαργεδ παρτιχλεσ οφ χηαργε ρατιο 1:4 mοϖινγ ωιτη σαmε ϖελοχιτψ εντερ α ρεγιον οφ υνιφορm
mαγνετιχ φιελδ οφ στρενγτη Β ανδ γετ δεφλεχτεδ ανδ mοϖε αλονγ χυρϖεσ ωιτη εθυαλ ραδιυσ Ρ. Τηε ρατιο
οφ τηειρ mασσεσ ισ 

α) 4:1 

χ) 1:4 
β) 2:1 

δ) 1:2 

16. Wηεν α χηαργεδ παρτιχλε mοϖεσ ιν α ρεγιον ωιτη ελεχτριχ φιελδ Ε = 3ι Ν/Χ ανδ mαγνετιχ 
φιελδ Β = 5ϕ Τ, τηε τραϕεχτορψ οφ τηε παρτιχλε ισ 
α) χιρχλε 

χ) στραιγητ λινε 
β) παραβολα 

δ) ηελιξ 

17. Τωο χο−αξιαλ χοιλσ Α ανδ Β οφ ραδιυσ Ρ1 ανδ Ρ2 χαρρψ εθυαλ αmουντ οφ χυρρεντ βυτ φλοωινγ 
ιν οπποσιτε διρεχτιον. Τηε νετ mαγνετιχ φιελδ προδυχεδ ατ τηε χεντρε οφ τηεσε χοιλσ ισ ζερο. 
Τηε ρατιο οφ τηε χυρρεντ φλοωινγ ιν τηε χοιλ Α το χυρρεντ ιν χοιλ Β ισ 

α) Ρ1 : Ρ2 

χ) (Ρ / Ρ)2

β) Ρ2 : Ρ1 

δ) (Ρ / Ρ)22 1  1 2  

18. Wηιχη αmονγ τηε φολλοωινγ ισ α δεσιραβλε φεατυρε οφ α φερροmαγνετ τηατ χαν βε υσεδ ασ 
χορε οφ α τρανσφορmερ? 
α) ηιγη ηψστερεσισ λοσσ ανδ λοω ρετεντιϖιτψ 

β) λοω ηψστερεσισ λοσσ ανδ ηιγη ρετεντιϖιτψ 

χ) ηιγη χοερχιϖε φιελδ ανδ ηιγη ρετεντιϖιτψ 

δ) λοω ηψστερεσισ λοσσ ανδ λοω ρετεντιϖιτψ 

19. Τηε πηασε διφφερενχε βετωεεν τηε χυρρεντ τηρουγη τηε ρεσιστανχε ανδ ϖολταγε αχροσσ τηε ρεσιστανχε ιν α σεριεσ ΛΧΡ χιρχυιτ ισ 

α) 180ο 

χ) 90ο 

β) 0ο 

δ) 45ο 

20. Αν οβϕεχτ οφ σιζε 10 χm ισ κεπτ ατ α διστανχε οφ 10 χm φροm α χονϖεξ λενσ. Ιφ τηε φοχαλ 
λενγτη οφ τηε λενσ ισ 5 χm, τηε σιζε οφ τηε ιmαγε ισ 

α) 10 χm 

χ) 5 χm 

β) 20 χm 

δ) 15 χm 

21. Α βιχονϖεξ λενσ οφ φοχαλ λενγτη 10 χm ισ το βε mαδε φροm α γλασσ mατεριαλ. Ιφ τηε 
ρεφραχτιϖε ινδεξ οφ τηε mατεριαλ ισ 1.5, ωηατ mυστ βε τηε ραδιυσ οφ χυρϖατυρε οφ τηε 
συρφαχε οφ τηε λενσ? 
α) 0.1 m 
χ) 0.20 m 

β) 0.15 m 
δ) 0.30 m 
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22. 6 Αδιφφραχτιον γρατινγ ωιτη 10 λινεσ / m ισ υσεδ το δετερmινε τηε ωαϖελενγτη οφ α mονοχηροmατιχ
σουρχε. Τηε ανγλε οφ φιρστ ορδερ διφφραχτιον ισ 30ο. Τηε ωαϖελενγτη οφ τηε σουρχε ισ α) 1000 νm χ)
400 νm 

β) 500 νm δ)
600 νm 

23. A glass plate of thickness 1.5 ǋm and refractive index 1.5 is introduced between one of 
the slits and screen in a Young’s double slit experiment. If the wavelength of the 
mονοχηροmατιχ σουρχε υσεδ ισ 
ιντερφερινγ ωαϖεσ ατ τηε χεντρε οφ τηε σχρεεν ισ εθυαλ το 

= 0.75 ǋm, τηε πηασε διφφερενχε βετωεεν τηε 

α) 6

χ) 

 β) 3

δ) 2

 

 

24. Wηατ ισ τηε ϖελοχιτψ οφ λιγητ ιν α mεδιυm ωιτη ρεφραχτιϖε ινδεξ 1.5? 

α) 2 ξ 108 m/σ 

χ) 1.5 ξ 108 m/σ 

β) 3 ξ 108 m/σ 

δ) 2.5 ξ 108 m/σ 

25. Wηιχη αmονγ τηε φολλοωινγ ελεχτροmαγνετιχ ραδιατιονσ ισ τηε mοστ ενεργετιχ? 

α) Ινφρα ρεδ λιγητ 

χ) Υλτραϖιολετ λιγητ 

β) ςισιβλε λιγητ 

δ) mιχροωαϖεσ 

26. Wηιχη οφ τηε φολλοωινγ παρτιχλεσ ηασ τηε σηορτεστ δε−Βρογλιε ωαϖελενγτη, ιφ αλλ οφ τηεm 
mοϖε ωιτη σαmε σπεεδ? 
α) βετα παρτιχλε 

χ) προτον 
β) αλπηα παρτιχλε 

δ) νευτρον 

27. Τηε mασσ οφ α πηοτον οφ ωαϖελενγτη ισ γιϖεν βψ 

α) η 

χ) η/ 

/χ β) /ηχ 

χ δ) ηχ/ 

28.Τ ραδιυσ οφ α νυχλευσ ωιτη Α = 2 −15 ηε 56 ισ 8 φερmι (1 φερmι = 1 ξ 10  m). Τηε ραδιυσ οφ α νυχλευσ ωιτη Α = 4 ισ 
α) 1 φερmι 

χ) 3 φερmι 
στοππινγ ποτεντιαλ οφ τηε mεταλ συρφαχε ισ 

β) 2 φερmι 

δ) 4 φερmι 

29. Πηοτονσ οφ ενεργψ 6 ες φαλλ ον τηε συρφαχε οφ α mεταλ ωιτη ωορκ φυνχτιον 4 ες. Τηε 

α) 2 ς 

χ) 3 ς 

β) 10 ς 

δ) 1 ς 

30. Αδδιτιον οφ α mινυτε θυαντιτψ οφ πηοσπηορυσ το α σιλιχον χρψσταλ mακεσ ιτ 

α) αν ν−τψπε σεmιχονδυχτορ 

χ) α γοοδ χονδυχτορ 

β) α βαδ χονδυχτορ 

δ) α π−τψπε σεmιχονδυχτορ 
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ΧΗΕΜΙΣΤΡΨ 
31. Τηε αχτυαλ ατοmιχ ωειγητ οφ αν ελεmεντ ισ ρεπρεσεντεδ ιν 

α) νυmβερ

χ) “amu” 

β) “u”

δ) “mu” 

32. Τηε ωειγητ οφ νασχεντ οξψγεν ιν mιλλιγραmσ οβταινεδ φροm 6.32 γ οφ ποτασσιυm 

περmανγανατε (Μολεχυλαρ ωειγητ 158) ιν αχιδ mεδιυm ισ 

α) 16 

χ) 0.16 

β) 0.016 

δ) 1.6 

33. The value of Plank’s constant in units of Js is 

α) 6.626 ξ 10−34 

χ) 6.626 ξ 10−27 

β) 6.626 ξ 10−23 

δ) 1.38 ξ 10−23 

34.Τ  mασσ οφ προτον ηαϖινγ α ο ηε

α) 4.78 ξ 10−33 κγ 

χ) 7.17 ξ 10−33 κγ 

 ωαϖελενγτη οφ 4.2Α ισ 

β) 4.78 ξ 10−33 γ 

δ) 2.39 ξ 10−33 γ 
35. Τηε mεασυρεmεντ οφ α τηερmοδψναmιχ προπερτψ κνοων ασ τεmπερατυρε ισ βασεδ ον 

α) ζεροτη λαω οφ τηερmοδψναmιχσ β) φιρστ λαω οφ τηερmοδψναmιχσ 

χ) σεχονδ λαω οφ τηερmοδψναmιχσ δ) κιρχηοφφσ εθυατιον 

36. Τηε βονδ δισσοχιατιον εντηαλπιεσ οφ Η2(γ), Χλ2(γ) ανδ ΗΧλ(γ) αρε 435, 243 ανδ 431 

κϑ/mολ ρεσπεχτιϖελψ. Τηε εντηαλπψ οφ φορmατιον οφ ΗΧλ(γ) ιν κϑ/mολ ωιλλ βε 

α) 121 β) −1211 

χ) −121 δ) −242 

37. Dεφεχτιϖε χοατινγ οφ ζινχ οϖερ mιλδ στεελ λεαδστο 

α) ενηανχεδ χορροσιον οφ mιλδ στεελ 

β) ινχρεασε οφ χορροσιον ποτεντιαλ 

χ) χορροσιον οφ ζινχ χοατινγ 

δ) ηψδρογεν εϖολυτιον οϖερ mιλδ στεελ 

38. Wηατωιλληαππεν το τηε ρατε χονσταντ οφ α ρεαχτιον ωηεν τηε τεmπερατυρε ισ ραισεδ βψ 

10οΧ? 

α) Ινχρεασε βψ 10 τιmεσ 

χ) Ισ δουβλεδ 

β) Ισ ηαλϖεδ 

δ) Νοτ αφφεχτεδ 
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39. Τηε εθυιϖαλεντ χονδυχτανχεσ ατ ινφινιτε διλυτιον ( ) οφ αmmονιυm χηλοριδε, σοδιυm 
ηψδροξιδε ανδ σοδιυm χηλοριδε αρε 120, 240 ανδ 150 mηοχm2εθ−1. Τηε
αmmονιυm ηψδροξιδε ιν mηοχm2εθ−1 ισ 

α) 270 

χ) 30 

οφ 

β) 210 

δ) 510 

40.  χm3 100
πρεσσυρε οφ τηε σολυτιον ατ 300Κ ισ 2.57 ξ 10−3 βαρ, τηε mολαρ mασσ οφ τηε προτειν ωιλλ βε 

οφ αν αθυεουσ σολυτιον οφ προτειν χονταινσ 0.63 γ οφ προτειν. Ιφ τηε οσmοτιχ 

α) 60039 

χ) 62039 

β) 61039 

δ) 63039 

41. Α χοmπουνδ φορmεδ βψ ελεmεντσ Π ανδ Θ χρψσταλλιζεσ ιν χυβιχ στρυχτυρε ιν ωηιχη ατοmσ 
οφ Π αρε ατ χορνερσ ανδ ατοmσ οφ Θ αρε ατ τηε φαχε χεντερ. Τηε φορmυλα οφ τηε χοmπουνδ ισ 

α) ΑΒ3 

χ) Α3Β 

β) ΑΒ 

δ) ΑΒ 

γασ ισ α  2

42.Σψν  mιξτυρε οφ

α) χαρβον διοξιδε ανδ ηψδρογεν 

χ) mετηανε ανδ ηψδρογεν 

β) χαρβον mονοξιδε ανδ ηψδρογεν 

δ) mετηανε ανδ χαρβον mονοξιδε 

43. Wηιχη ονε οφ τηε φολλοωινγ αλκαλι mεταλ ηψδριδεσ ισ τηερmαλλψ σταβλε?

ιτηιυm ηψδριδε 

οτασσιυm ηψδριδε 

χορρεχτ ορδερ οφ αχιδιχ χηαραχτερ ο

Ο2 > ΧΟ2 > ΧΟ >Ν2Ο 
5

χ) Ν2522

Ο > ΣΟ > ΧΟ > ΧΟ 

mεταλ ισ 

α) Λ  β) Σοδιυm ηψδριδε 

χ) Π

44.Τηε φ τηε φολλοωινγισ

β) ΣΟ2 > Ν2Ο5 > ΧΟ > ΧΟ2 

δ) Ν2Ο5 > ΣΟ2 > ΧΟ2 > ΧΟ 

45. Βελλ αν αλλοψοφ

α) χοππερ ανδ τιν 

χ) χοππερ ανδ νιχκελ 

β) σιλϖερ ανδ χοππερ 

δ) χοππερ, ζινχ ανδ τιν 

46. Αmmονιυm διχηροmατε ισ υσεδ ιν φιρεωορκσ. Τηε γρεεν χολουρεδ ποωδερ βλοων ιν τηε αιρ 
ισ 
α) ΧρΟ3 

χ) Χρ 
β) Χρ2Ο3 

δ) ΧρΟ (Ο2) 

47. Wηιχη ονε οφ τηε φολλοωινγ χοmπλεξινγ αγεντσ ισ υσεδ φορ τηε εστιmατιον οφ ηαρδνεσσ οφ ωατερ? 
α) Χψανιδε 

χ) ΕDΤΑ β) Πψροπηοσπηατε 

δ) Ετηψλενε διαmινε 
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48. Ηοω mανψ ανδ 

βονδσ αρε πρεσεντ ιν νιτροmετηανε 

α) 6

χ) 6 

ανδ 1

ανδ 2

 β) 5

δ) 5 

ανδ 2

ανδ 1

 

  

49. Ρεταρδατιον φαχτορ ισ χαλχυλατεδασ

α) ratio between ‘distance travelled by the substance from the base line and distance 
mοϖεδ βψ τηε σολϖεντ φροm τηε βασε λινε’ 

β) ratio between ‘distance travelled by the solvent from the base line and distance 
mοϖεδ βψ τηε συβστανχε φροm τηε βασε λινε’ 

χ) sum of ‘distance travelled by the substance from the base line and distance moved 
βψ τηε σολϖεντ φροm τηε βασε λινε’ 

δ) difference of ‘distance travelled by thesubstance from the base line and distance 

mοϖεδ βψ τηε σολϖεντ φροm τηε βασελινε’ 

50. Ιν ωηιχη ονε οφ τηε φολλοωινγ, Μν εξηιβιτσ ιτσ ηιγηεστ οξιδατιον στατε?

α) ΜνΟ2 

χ) 

β) 

δ) ΜνΟ 

51. ΣΝ1 ρεαχτιον ισ φαϖορεδβψ

α) νον πολαρ σολϖεντσ 
β) mορε νυmβερ οφ αλκψλ γρουπ ον τηε χαρβον ατοm ατταχηεδ το τηε ηαλογεν ατοm 

χ) σmαλλ γρουπσ ον τηε χαρβον ατταχηεδ το τηε ηαλογεν ατοm 

δ)νο γρουπσ ον τηεχαρβονατταχηεδ το τηε ηαλογεν ατοm 

52. Πηενολ ισ λεσ σ αχιδιχτηαν

α) ετηανολ 

χ) ο−mετηψλπηενολ 

β) ο−νιτροπηενολ

δ) ο−mετηοξψπηενολ 

53. Χηλορο ετηανε ρεαχτσ ωιτη χοmπουνδ Ζ το φορm διετηψλ ετηερ. Ιδεντιφψ Ζ? 

α) ΝαΟΗ 

χ) Χ2Η5ΟΝα 

β) Η2ΣΟ4 

δ) Να2Σ2Ο3 

54. Wηιχη οφ τηε φολλοωινγ ρεαγεντσ mαψ βε υσεδ το διστινγυιση βετωεεν πηενολ ανδ βενζοιχ αχιδ? 
α) Tollens’ reagent 

χ) Νευτραλ ΦεΧλ3 β) Μολισχη ρεαγεντ 

δ) Αθυεουσ ΝαΟΗ 
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55. In the following sequence of reactions, the alkene affords the compound ‘B’. 

Τηε χοmπουνδ Β ισ 

α) ΧΗ3ΧΗΟ β) ΧΗ3ΧΟΧΗ3 

δ) ΧΗ3ΧΗ2ΧΟΧΗ3 χ) ΧΗ3ΧΗ2ΧΗΟ 

56. Ηοω mανψ χηιραλ χαρβονσ αρε τηερε ιν 

−D−(+)−γλυχοσε? 

α) φιϖε β) σιξ 

δ) φουρ χ) τηρεε 

57. Wηψ αρε certain rubbers called as ‘vulcanized rubber’? 

α) Τηεψ αρε φορmεδ υνδερ ϖολχανιχ ερυπτιον 

β) Τηεψ αρε πρεπαρεδ βψ αδδινγ 5% οφ συλπηυρ ασ χροσσ−λινκινγ αγεντ 

χ) Τηεψ δο νοτ υσε ανψ χο−mονοmερ 

δ) Βψ τηε αδδιτιον οφ εξχεσσιϖε χο−mονοmερ 

58. Ονε οφ τηε χοmmον χοmπονεντσ οφ πηοτοχηεmιχαλ σmογισ

α) φορmαλδεηψδε β) αχεταλδεηψδε 

δ) ΧΟχ) mετηανε

οδιυm δοδεχψλβενζενεσυλπηον
 

) ανιονιχ δετεργεντ 

) χατιονιχ δετεργεντ 

ηιχη ονε οφ τηε φολλοωινγ αχτσ

 2 

59.Σ ατε ρεφερστο

α β) σοαπ 

χ

 ασ αντιηισταmινε?

α) Εθυανιλ 

χ) Σεροτονινε 

β) Μορπηινε 

δ) Βροmοπηενψλαmινε 
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ΜΑΤΗΕΜΑΤΙΧΣ 

61. Ιφ α, β, χ αρε ΑΜ, ΓΜ ανδ ΗΜ ρεσπεχτιϖελψ οφ τωο εθυαλ νυmβερσ, τηεν 

α) 2β = α + χ

χ) β2 = αχ 

β) β = 2αχ / (α+χ)

δ) αβ2 = χ 

62. Τηε ηαρmονιχ mεαν οφ τηε ροοτσ οφ τηε εθυατιον ισ (7 + √3) x2 − (6 + √7) ξ + (12 + 2√7 ) = 0 
α) 8 

χ) 3 β) 6 

δ) 4 

63. Τηε γενεραλ σολυτιον οφ ξ σατισφψινγ τηε σψστεm οφ εθυατιονσ 5
25(Σιν2ξ+Σιν2ψ) = 5 ισ 

α) ν

χ) ν

/6 

/6) 

β) 2ν

δ) ν

+ /6 

−( + /6 

64. Τηε ανγλεσ οφ α τριανγλε αρε ιν Α.Π ανδ τηε λεαστ ανγλε ισ 40°. Τηε γρεατεστ ανγλε ιν 
ραδιανσ ισ 

α) 

χ) 

/2 β) 4

δ) 3

/9 

/2 /4 

65. Ιφ Σιν =1/√5 and tan =1/2, τηεν Χοσ  ισ εθυαλ το 

α) 2/√5 

χ) 1/√5 

β) 1/√3 

δ) 1/(2√5) 

= 1; (Σινξ+Σινψ) 
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66. Τηε ϖαλυε οφ ισ εθυαλ το 

α) 1

χ) ε 

β) ε4

δ) ε1/4 

67.Rolle’s 3)ε(−x⁄2) Theorem for f(x) = ξ(ξ−
 ισ αππλιχαβλε ιν τηε ιντερϖαλ 

α) (0, 3) 

χ) (−3, 0) 

β) (0, −3) 

δ) (3, 0) 

68.Εθυατιον οφ τηε νορmαλ το τηε χυρϖε ψ=(1+ξ)ψ + Σιν−1(Σιν2 
ξ) ατ ξ = 0 ισ 

α) ψ = ξ 

χ) ψ + ξ = 1 

β) ψ − ξ = 1 

δ) ψ − 1 = 2ξ 

69.Ιφ Α ανδ Β αρε τωο mατριχεσ συ 2 2 χη τηατ ΑΒ = Α ανδ ΒΑ = Β , τηεν Α– Β = 

α) 2 ΑΒ 

χ) Α + Β 

β) Α – Β 

δ) 2 ΒΑ 

70. Τηε σψστεm οφ λινεαρ εθυατιονσ ξ + 3ψ + (+2)ζ = 0, 2ξ + 4ψ + 8ζ = 0, 
3ξ + 5ψ + 10ζ = 0 ηασ νον−τριϖιαλ σολυτιον, ωηεν 

ισ 

α) −2 

χ) 4 

β) 2 

δ) −4 
71.Ιφ τηε ροοτσ οφ τηε εθυατιον αξ2 + βξ + χ = 0 αρε ιν τηε ρατιο 2 : 3, τηεν 

α) 6β2 = 25 αχ 

χ) 13β2 = 6 αχ 

β) 6β2 = 25(α+χ) 

δ) 13β2 + 6 αχ = 0 
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χ) 

α) 

5ξ−ψ+9ζ=10 ισ 

δ) 

72. Ιφ ανδ αρε αδϕαχεντ σιδεσ οφ α παραλλελογραm ωιτη | + |=| − |, τηε αδϕαχεντ 

σιδεσ οφ παραλλελογραm αρε 

α) περπενδιχυλαρ 

χ) παραλλελ 

β) ινχλινεδ ατ αν ανγλε οφ 

δ) ινχλινεδ ατ αν ανγλε οφ 

/3 

/4 

73. Τηε σχαλαρ Ń{ + ) Ξ ( + + )} ισ εθυαλ το 

α) [

χ) [

, ,

,

 ] β) 0 

δ) [, ] + [ , , ] , , ] + [ , , ] + [ , , ] 

74. Τηε εθυατιον οφ τηε λινε πασσινγ τηρουγη τηε ποιντ οφ ιντερσεχτιον οφ τηε λινεσ ανδ ωηιχη

πλανε ισ περπενδιχυλαρ το τηε 

β) 
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78. Wηατ ισ τηε ϖαλυε οφ 

α) 

χ) 

β) 

δ) 

75. Τηε εθυατιον οφ τηε πλανε τηρουγη τηε ιντερσεχτιον οφ τηε πλανεσ 2ξ – ψ + ζ = 6 ανδ 
ξ + ψ + 2ζ = 7 ανδ πασσινγ τηρουγη τηε ποιντ (1, 1, 1) ισ 

α) 2ξ − 7ψ – 5ζ + 10 = 0 

χ) 2ξ − 7ψ – 5ζ – 10 = 0 
3ξ + 2ψ + ζ = 5 ισ 

β) 2ξ – 7ψ + 5ζ +10 = 0 

δ) 2ξ + 7ψ – 5ζ – 10 = 0 

76. Τηε εθυατιον οφ τηε λινε πασσινγ τηρουγη τηε ποιντ (1, 1, 0) ανδ παραλλελ το τηε πλανε 

α) β) 

χ) δ) 77. Τηε ανγλε βετωεεν τηε χοmπλεξ νυmβερσ 2 + 2ι ανδ −7 ισ 

α) 

χ) 3

/2 β) 

δ) 3

/4 

/2 /4 

? 
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79. Τηε ρατιο βετωεεν τηε νυmβερ οφ ωαψσ ωε χαν αρρανγε ν περσονσ ιν α χιρχυλαρ mαννερ το 

τηε νυmβερ οφ ωαψσ ωε χαν αρρανγε τηεm ιν α λινε ισ 

α) 1:ν 

χ) 1:1 

β) ν:1 

δ) 1:2 

80. Α τεαm οφ 8 στυδεντσ γοεσ ον αν εξχυρσιον, ιν τωο χαρσ, οφ ωηιχη ονε χαν σεατ 5 ανδ τηε οτηερ ονλψ 4. Ιν ηοω mανψ ωαψσ χαν τηεψ τραϖελ? 

α) 274 

χ) 126 

β) 26 

δ) 96 

81.Τηε νυmβερ οφ χοmmον τανγεντσ το τηε χιρχλεσ ξ2 + ψ2 – 4ψ = 0 ανδ ξ2 + ψ2 – 2ψ = 0 ισ 

α) 4 

χ) 3 

β) 2 

δ) 1 

82. Χεντρε οφ τηε χιρχλε πασσινγ τηρουγη (4, 5), (3, 4), (5, 2) ισ 

α) (9/2, 7/2) 

χ) (7/2, 7/2) 

β) (7/2, 9/2) 

δ) (9/2, 9/2) 

83. Ιφ ε1 ανδ ε2 αρε τηε εχχεντριχιτιεσ οφ α ηψπερβολα ανδ ιτσ χονϕυγατε τηεν
 ωιλλ βε 

α) 

χ) 

1 

0 

β) 

δ) 
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84.η 2 2
 Τε εθυατιον 4ξ+ 7ψ + 32ξ – 56ψ + 148 =0 ρεπρεσεντσ 

α) αν ελλιπσε ωιτη χεντερ (4, −4) 

β) αν ελλιπσε ωιτη χεντερ (−4, 4) 

χ) αν ελλιπσε ωιτη χεντερ (2, −2) δ)

αν ελλιπσε ωιτη χεντερ (−2, 2) 

85.  εθυατιον φορ τηε χιρχ 2 2 Τηε λε οβταινεδ βψ σηιφτινγ τηε χιρχλε ξ+ ψ= 49 το 3 υνιτσ δοων 

ανδ 2 υνιτσ λεφτ ισ: 

α) (ξ+3)2 + (ψ+2)2 = 49 

χ) (ξ−2)2 + (ψ−3)2 = 49 

β) (ξ−3)2 + (ψ−2)2 = 49 

δ) (ξ+2)2 + (ψ+3)2 = 49 

86. Τηε ϖαριανχε οφ α δατα σετ ισ κ, τηεν τηε ϖαριανχε οφ τηε δατα σετ οβταινεδ βψ σηιφτινγ τηε 
οριγιναλ δατα το 3 υνιτσ ισ 

α) κ – 3 

χ) κ 
β) κ + 3 

δ) 3κ 

87. Συπποσε τηατ Π (Α/Β) = 0.7, Π(Α) = 0.5 ανδ Π(Β) = 0.2 τηεν Π(Β/Α) ισ, 

α) 0.14 

χ) 0.3 

β) 0.4 

δ) 0.28 
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88. Α mεδιχαλ τεστ ισ χαπαβλε οφ ιδεντιφψινγ σοmεονε ωιτη τηε ιλλνεσσ ασ ποσιτιϖε ισ 99% ανδ 

σοmεονε ωιτηουτ ιλλνεσσ ασ νεγατιϖε 95%. Ιφ τηε ιλλνεσσ ισ πρεσεντ ιν τηε γενεραλ ποπυλατιον ωιτη

προβαβιλιτψ 0.0001, τηε προβαβιλιτψ φορ ανψονε το ηαϖε ιλλνεσσ ωηεν τηε 

mεδιχαλ τεστ ρεσυλτσ ποσιτιϖε ισ 

α) 0.00009 

χ) 0.0001 

β) 0.002 

δ) 0.9980 

89. Τηε προβαβιλιτψ τηατ τηε ροοτσ οφ τηε εθυατιον = 0 αρε νοτ ρεαλ 

νυmβερσ ωηερε ν

α) 2/5 

χ) 1/5 

Ν συχη τηατ ν 5 ισ 

β) 4/5 

δ) 3/5 

90. Ιφ Α ισ αρεα λψινγ βετωεεν τηε χυρϖε ψ = χοσ ξ ανδ ξ−αξισ βετωεεν ξ = 0 ανδ ξ = /2 , 

τηεν τηε αρεα οφ τηε ρεγιον βετωεεν τηε χυρϖε ψ = χοσξ/2 ανδ τηε ξ−αξισ ιν τηε σαmε 

τερϖαλ ισ  2

ιν

α) (

χ) (

 γιϖεν βψ

+Α)/2 

/2)+Α 

β) (

δ) (

/4)+Α 

/4)+(Α/2) 
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91. ισ εθυαλ το

α) 2 

χ) 1 

β) −2 

δ) 0 

92. Ιφ τηε αρεα βουνδεδ βψ τηε χυρϖε ψ = φ(ξ), ξ−αξισ ανδ τηε ορδινατεσ ξ = 1 ανδ ξ = β ισ 

(β − 1) σιν(3β + 4), τηεν φ(ξ) ισ 

α) [(ξ−1) χοσ (3ξ+4)] 

χ) σιν (3ξ+4) 
β) [σιν(3ξ+4) + 3(ξ−1) χοσ(3ξ+4)] 

δ) Νονε 

93. ε χοεφφιχιεντ οφ ξ10 ιν τηε εξ 34 5 Τη
πανσιον οφ (1 − ξ ) (1 + ξ) ισ 

α) 15 

χ) 10 

β) 20 

δ) 6 
94. Wηιχη ονε οφ τηε φολλοωινγ ισ ΤΡΥΕ φορ ανψ ξ 

α) β) 

χ) δ) 

95. Τηε ορδερ ανδ δεγρεε οφ τηε διφφερεντιαλ εθυατιον 

ισ 

α) 1, 2 β) 1, 4 

χ) 1, 5√2 δ) 1, 3 
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96.Τηε γενεραλ σολυτιον οφ τηε διφφερεντιαλ εθυατιον (1 + ε(ξ/ψ) ) δξ + ε(ξ/ψ) (1−(ξ/ψ)) δψ = 0 
ισ

α) ψ + ξε(ξ/ψ)=Χ 

χ) ξ + Χ=ψε(ξ/ψ) 

β) ξ + ψε(ξ/ψ)=Χ 

δ) ψ + ψε(ξ/ψ)=Χ 

97. Τηε τριανγλε ωιτη ϖερτιχεσ Α = (2, 7), Β = (4, ψ) ανδ Χ = (−2, 6) ισ ριγητ ανγλεδ ατ Β ιφ 

τηε ϖαλυε οφ ψ ισ 

α) 10 ορ −3 

χ) 10 ορ 3 
β) −10 ορ −3 

δ) 9 ορ 4 

98. Τηε ποιντ εθυιδισταντ φροm τηε τηρεε λινεσ ξ + ψ =1, ψ = 1 ανδ ξ = 1ισ 

α) β) 

χ) δ) 

99. Τηε εθυατιον οφ τηε λινε mιδ παραλλελ το τηε τωο λινεσ 5ξ – 2ψ – 9 = 0 ανδ 5ξ – 2ψ + 7 = 0 ισ 

α) ξ + 5ψ – 8 = 0 

χ) 2 ξ −5ψ – 6 =0 

β) 5ξ – ψ – 1 =0 

δ) 5ξ − 2ψ – 1 =0 

100. Τηε στραιγητ λινε 3ξ + 4ψ + 4 = 0 ισ mοϖεδ παραλλελλψ σο τηατ ιτσ διστανχε φροm τηε 
ποιντ (3, −2) ισ ινχρεασεδ βψ 4 υνιτσ. Τηεν ιτσ εθυατιον ιν τηε νεω ποσιτιον ισ 

α) 3ξ + 4ψ – 30 = 0 

χ) 3ξ + 4ψ – 21 = 0 

β) 3ξ + 4ψ – 24 = 0 

δ) 3ξ + 4ψ + 24 = 0 
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(continued from the first page) 

ΟΜΡ ΑΝΣWΕΡ ΣΗΕΕΤ 
Υσε τηε ΟΜΡ ανσωερ σηεετ χαρεφυλλψ; νο σπαρε σηεετ ωιλλ βε ισσυεδ υνδερ ανψ χιρχυmστανχε.
Dο νοτ φολδ ορ mακε ανψ στραψ mαρκ ον τηε ΟΜΡ σηεετ.
Υσε ΗΒ Πενχιλ ορ Βλαχκ βαλλ ποιντ πεν φορ σηαδινγ τηε βυββλεσ ανδ βαλλ ποιντ πεν φορ ωριτινγ.
Ιν τηε ΟΜΡ ανσωερ σηεετ, mακε τηε φολλοωινγ εντριεσ
α. Wριτε τηε Ρεγιστρατιον Νυmβερ, Θυεστιον Βοοκλετ Νυmβερ ανδ Θυεστιον Βοοκλετ ςερσιον 

χοδε υσινγ βαλλ ποιντ πεν. 
β. Φιλλ τηε οϖαλσ χορρεσπονδινγ το τηε Ρεγιστρατιον Νυmβερ, Θυεστιον Βοοκλετ Νυmβερ ανδ 

Θυεστιον Βοοκλετ ςερσιον Χοδε υσινγ ΗΒ πενχιλ / βαλλ ποιντ πεν. 
χ. Wριτε ψουρ Ναmε ανδ Σιγνατυρε υσινγ βαλλ ποιντ πεν. 
Ρουγη ωορκ σηουλδ νοτ βε δονε ον τηε ανσωερ σηεετ. 

ΑΝΣWΕΡΙΝΓ ΑΝD ΕςΑΛΥΑΤΙΟΝ 
Φορ εαχη θυεστιον, φουρ ανσωερσ αρε συγγεστεδ οφ ωηιχη ονλψ ονε ισ χορρεχτ / mοστ 
αππροπριατε. Μαρκ τηε χορρεχτ / mοστ αππροπριατε ανσωερ βψ δαρκενινγ τηε χορρεσπονδινγ 
βυββλε υσινγ ΗΒ πενχιλ ορ Βλυε / Βλαχκ βαλλ ποιντ πεν. 
Ιν χασε τηε χανδιδατε ωισηεσ το χηανγε τηε χηοιχε αλρεαδψ σηαδεδ υσινγ ΗΒ πενχιλ, ηε/σηε 
mαψ ερασε τηε mαρκινγ χοmπλετελψ ανδ τηερεαφτερ σηαδε τηε αλτερνατιϖε βυββλε. Ιφ βαλλ ποιντ 
πεν ισ υσεδ φορ σηαδινγ τηε οϖαλσ, mακε συρε οφ τηε ανσωερ βεφορε σηαδινγ σινχε συχη 
mαρκινγσ χαννοτ βε αλτερεδ. 
Ιφ mορε τηαν ονε βυββλε ισ δαρκενεδ αγαινστ α θυεστιον, ιτ ωιλλ βε τρεατεδ ασ αν ινχορρεχτ 
ανσωερ. 
Φορ εαχη χορρεχτ ανσωερ, τηρεε mαρκσ ωιλλ βε αωαρδεδ. 
Φορ εαχη ινχορρεχτ ανσωερ, ονε mαρκ ωιλλ βε δεδυχτεδ φροm τηε τοταλ σχορε. 
Ιφ ανψ σmυδγε ισ λεφτ ον τηε ΟΜΡ σηεετ, εϖαλυατιον ωιλλ βεχοmε ιmπερφεχτ. 
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